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LETNIAAN I~ oses=n [T [2]o [2]o]
PART -1I1

Qunmeflueo / ECONOMICS
(5D wimb hide el / Tamil & English Version)

[ Qorgg wHlGuemser : 90

BT 3jema] : 3.00 wanfl GHFLD ]
[ Maximum Marks : 90

Time Allowed : 3.00 Hours ]

SMeyeorsst : (1) @G AarrssEnd Fflwrs ueursl o erergT 6T &3 LI & 6 6
sfurigg s Qandrerab. sgaiugleild Goplimudea, Dmnsé
sansresiiiurerfiLib 2 L angunss Qgfelssab.

2) Beob @deg &MHUY ewwW@emar LG dPFHUSHEGD

2l 5C5my Qausp@n LweuBss GouamBib. ULRIGET euenfeusn (@

Quendled LweTU(HSSeYLD.

Check the question paper for fairness of printing. If there is any lack of

Instructions : (1)
' fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@dl - 1/ PART -1
G@oluy (i) S|oeTSF QTTéHEE@REEWD allen_wiefl&sHayb. 20x1=20
(i) Osr@ssuuBerar L L saile Waab epLmLw elamLamud
Car0s0586 G ALer elemLlienanyd Gardg eT(SaLD.
Note: (i) Answer all the questions.

(iiy Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.
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1. Qumrmetrsrrgdlern sHeng wmi ?

(1) uitéd 1 sTipGaucdaer (<o) TG (PaE@T
(&) <L bl (FF) &mid W&y
Who is the Father of Economics ?

(@) Paul A Samuelson (b) Max Muller

() Adam Smith (d) Karl Marx

2.  SpssemL aumiiumliger epob @ndfoe Ll Sereil @b :

(=1) TU,+TUq 41 () TU,—TU, 4 ‘
(@) TU,=TUp 41 () TUL+TU,_4 ""
Marginal Utility is measured by using the formula of : f
(@ TU,+TU, (b) TU,— TU -1
(@ TU,-TUp4q (d) TUL+TUq-4

3. &w CpréE euamarGar(hser
(=) erdiwempé sloyeniwenes (=) CemEsgs Carbsear

(@) u@semas Car@ser () Criwenné sfleyenLweame
The indifference curves are :

(a) negatively sloped (b) vertical

(c) horizontal (d) positively sloped

1. sodusre e HusHE eniy esen e ABULLESADS ?
(=1) Coeweau el
(<) 6985 iemey efleverey 6l
(@) wrmb 985 2iete] eflamere eilg)
() & ety 2HuSHE Carh
The Short-run production is studied through :
(a) Law of Demand
(b) The Laws of Returns to Scale
(c) The Laws of Variable Proportions
(d) Iso-quants
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peien Qurmailud eudgianiseaiar efld) :

(1) wrmib eldlg oeray (<) euarihgl GQae eflélg <jare,

(8) Gonbs Qe a9ds <are; () T 6iéls aTey

Modern economists have propounded the Law of :

()
©)

Variable proportions (b) Increasing returns

Decreasing returns (d) Constant returns

Qurml seflen  elpumer ppebd HoLEGD e@EGLIOD

QU(HGEU MM GLD.

(=) @mdfleve (<) @eoruid (@) Qwrss GIREILEL
Revenue received from the sale of products is known as revenue.

(a) marginal (b) profit (c) total revenue (d) average
Henmey GUTLIg <Sja) et LILg)

(=) @& FeMEnLD LIGHTL LD (<)) SpL DU LarrLLD
(@) edHugwimer LIGRTL LD () Caumu@$siuL LaLLD

Perfect competition assumes

(a)
()

G550 areme G OO
oiamguid 2igs elmau|b, Qeuefl i AT ue

Homogenous goods (b) Luxury goods

Producer goods (d) Differentiated goods

DI Sag 2 LSS LETLSHDE 2-aTeEnHT
Blremrudl g,

%@LD.

(1) e Gevaney
(@) @@pHs efleaud

Dumping refers to practice of the m
the local market and in th

(2)
(©)

no price

lower price

(<) <16l eflemauid
(F) &LLomen cllemeuwLd

onopolist charging higher price for his product in
e foreign market.

(b) higher price
(d) equal price
[ Houys / Turn over
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9. @85 o flevo gmelld Corlumi el ersg@TaEsaI :

(=1) eopL (=) Seran (@) eurdsi () aprGe
Residual Claimant Theory is propounded by :
(@)  Knight (b) Keynes () Walker (d) Hawley

10.  “wellgermmed o peurssliul L @uibHiiiser wppib 9 e usFemhsei Gmbs)
Quplin@®b eumeurGu Gumed cumyb”. GTGD SndOl, WTHEDL G ?
(1) 1S, Bl (<2p) e priQensen
(&) DT riage (FF) <L b evdlG

“Quasi-Rent is the income derived from machines and other appliances made by man”.
Whose quote is this ?

(@) J.S. Mill (b) Joan Robinson
(c)  Alfred Marshall (d) Adam Smith

11. “Am Yerey Y amH” ererLg)

(<=1) 1975 (<=4,) 1951 (@) 1961 (Fr) 1971
“Year of Small Divide’ :
(a) 1975 (b) 1951 (c) 1961 (d) 1971

12, <»ppmbd ghgrar®h Sl ssler Sigliuem Crrésh
(<=1) geps BHLGT Fnlgll FDOTE GUETTES
(<=, Couermemenn (penGarHmLDd
(@) aupeno @ity
() Qamfled wenGearbmLd
The basic objective of Sixth Five Year Plan was :
(a) Growth with justice and equity
(b) Agricultural development

c) Poverty eradication

(
(d) Industrial development
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LPG -&@ erdlyrar eungLd

(<=1) pelar WWLTEEe

(<) QumBeTTSTy GUaTTES]

(&) =5 5l

(FF) &&ET LHDILD e anisafa G ghnssTPe!
The Arguments against LPG is

(@) Modernization

() Economic growth

(c) More investment

(d) Disparities among people and regions

LS QUTBETTSTTS Qareransulan epey (PSS SIeTaeT :

(1) GST (<) LPG (@) PSU () SEZ
The triple pillars of New Economic Policy are :
(a) GST (b) LPG (c) PSU (d) SEZ

oarysd FTeneUdlen LIWGTLITLITE SmSLIL(HeIG]-

(1) sty euaTi&s] (<p) 2178 SIBETY QUES

(@) Couened cumiiLIL (/) Cpaar amardgib
Identify the advantages of rural roads.

(a) Rural development (b) Rural marketing

(c) Rural employment (d) All the above

swe g6l @pése aurkid @aman i) HL D GarésiurL gy

(1) 2010 (<=1,) 2009 (@) 1992 (/) 1991
In which year, SHG Bank Linked programme started ?
(a) 2010 (b) 2009 () 1992 (d) 1991

[ Siys / Turn over
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17.  gWlppr( earpri(h e pusHuiad s Lk eudllug :

(1) uenflgar (<) Gavarramenn (@) Qsmfe geop (F) &IRSD
The largest contribution to GSDP in Tamil Nadu comes from .
(@) Services (b) Agriculture (c) Industry (d) Mining

18. GlFamenan eranayld SmPpssLLBhEDg.
(1) pAwreler G Fmil
(=) @bdlwrefler QL ymi
(@) sWppriger GLymi ;
(/) Qger @bHlwreden Gl ymil |
Chennai is called as :
(a) Detroit of Asia

(b) Detroit of India
(c) Detroit of Tamil Nadu

. (d) Detroit of South India
19. Qsrengui® erenLg aranuflan gamedp GFwuduTLTELD.

(1) ausiSE (<) Gaupn®

(@) sewamael (F) SOHSHOME

Integration is the reverse process of :

(a) Differentiation (b) Difference

(c) Mixing (d) Amalgamation

20. PPT eranuigl

(<4) Perform Point Presentation (<24,) Primary Point Presentation

(@) Power Point Presentation (FF) Physicél Point Presentation,

PPT stands for :

(a) Perform Point Presentation (b) Primary Point Presentation

(c) Power Point Presentation (d) Physical Point Presentation
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. L& - 11/ PART - 11
Gl : sTemeuGuigy)b 7 cSlanTEaHERsE 6flenLWafl&Esa. eSarm eramr 30 -&@&
SL_Lmuwns oflen_wa&sa, . 7x2=14

Note : Answer any seven questions. Q. No. 30 is compulsory.

21.  UGRHTLEISET cTemmTed GTea ? DISE eUESHEETS CIuNIRICE:S
What are goods ? Name the kinds of goods.

22. swGHTEE euameTCsTRsET LHNID Coma CpslpFs GTEMTED Grevnest ?
State the meaning of Indifference curves and Elasticity of demand.

23. e dremTihs Gseay, QauafliiuemLwrer Qeaway erampme cranen ?
What is implicit and explicit cost ?

24. efpuemen QFaa] erempme erener ?
What is Selling Cost ?

25. LIfifay GTETDITED Gramam ? SISET UENSEET WTenal 7
What is meant by distribution ? What are its kinds ?

26. -“Qamfler HILUS Csifley” Lp Qe Famieug) eremen ?

Give a short note on Sen’s “Choice of Technique’.

27. POQLI - auenyipi&sa,L.
Define PQLIL

28. ST LOWLDTESE GTGIDITE) GTaTes! ?
State the meaning of privatization.

29, gGsaybd epeary enemL @PIlys FHLLmser Sjmel QsrLmsluLL

2, (NG GT(LPSIS.

Name any three Poverty Eradication Schemes with year of launching.

30. @QméHlena Cseway LHMID Andflaw 2 Huss sangdL Lwaru@b eumiiur®

GTGuTGnT ?

What are the formulae for estimating Marginal Cost and Marginal Product ?
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L&) - 11/ PART - 1T

GOy : stemeuGuenid 7 AamésEnsE eloLwelssayb. adlem oram 40 -&@
sLLmub efer_weflldseyb. 7x3=21

Note : Answer any seven questions. Q. No. 40 is compulsory.

31, wwenumligen e QuiLiseT wrene ?

What are the important features of Utility ?

32. msTGeun eréssSln@E wriagedlen Qadsamsamos S(Hs.

Explain the theory of “Consumer’s Surplus”.

33. Qasrfler wanenGeurflem Lawflaer wrenau ?

What are the functions of Entrepreneur ?

34, &m0 Léeay 2 pusd eriy ereleurn eleréslLGEamg ?

How is Cobb - Douglas Production function expressed ?

35. @ meuir whmifenowlien QudLsaT wrea ?

State the features of duopoly.

36. QLI FTRIGD GoTus Gariur® : GOl euars.

Write a note on Risk-bearing Theory of profit.

37. SméslLaers Garium GHLY euenrs.

State the Doctrine of Trusteeship.
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sBOIDBT e Qsmfler Qarsg opaas GHLAOS.

Mention six Industry Clusters in Tamil Nadu.

GCadlwu cars Hev SjepLoliL] eremmmed ereva ?

What is National Rural Health Mission ?

waflg Cubur’ Ksé GHluidseer wree ?

What are the indicators of Human Development Index ?

u@&S - IV/ PART - IV

Golly : SIS aTTESEREEGLD aden_wiefl&Esa)Lb.

Note : Answer All the questions.
41, (=) Qumgpeflwellen FEenL IDPILD TV ceuf&aEa L.
{6060
(<=4) @Qur(meflwadlen o i 19fleysemar alaTEEs.
(a) Elaborate the Nature and Scope of Economics.

42.

OR

(b) Explain the Sub-Divisions of Economics.

(o) &0 @ misblene Lwarur_ @ eddew alleTsEEs.
ETTMMET

(cgcb)g,l_ﬂbbgﬁrruoreiﬂ &)enpaeumlwima Liigeaniy Ubo deuf&seyi.
(a) Explain the Law of Equi-Marginal Utility.
OR

(b) Explain the sectoral contribution of Tamil Nadu.

7x5=35

[ g@qua; / Turn over
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43.

44,

45.

46.

(<=1) ponflewwid eflma whmb o HLsd s Siorelliuams eleréEs.
9{60605)

(<) sLahl eulnd Camiumeni eleTé @s5.

(a) Illustrate Price and Output determination under Monopoly.

OR
(b) Elucidate the Loanable Funds Theory of Interest.

(=) @bl duretrsmrser eugiauren Sbatismer efloufEseyib.
S{60605)
(<) QB Hlo 2 e e wemsemer afeuflésayid.

(a) Explain the strong features of Indian Economy.
OR

(b) Elaborate the Land Tenure Systems in India.

(=1) Qurmermgmy wpanGapnsdled Sm Qsmfler Hlmeuemisaiien Likidaner
eleufl&aayLb.

9{6V60)
(<) LPG -pg erdlyren smsgismer aleuféseyib.
(a) Explain the role of SSIs in economic development.

OR
(b) Explain the Arguments against LPG.

(=) earps Cum@ertgnysSlar uamser eldSSromaremen. efleundssayib.
9{60605)
(<) sOlpBET g6 sHmeT woHmb CurEEerss) wpenmuflenen elemé 5.

(a) ‘The features of Rural Economy are peculiar’. Argue.
OR

(b) Explain the Tourism and Transport system in Tamil Nadu.
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(=) QuTéss Qseway 10+Q% Q=5 erafld AC, AVC, TEC, AFC @pfluaipamns

&&n(H9ig S&eyid.

660G

(<) Syt eldlews vweatu@sE) guwarur@aeflan x wHMID Y LglUL|EemeTS

srewrd. x+3y=1 woHmid 3x—2y=14.
(a)  If the total cost =10+ Q?, find AC, AVC, TFC, AFC when Q=5.

OR

. . s . 3 = d
(b) Find the value of x and y in the equations by using Cramer’s rule. x+3y=1an

3x—2y=14.

-000- '
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